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  Question: 1  

 
A customer mentions that their intercluster SnapMirror replication operations consistently take 
much longer than normal. While troubleshooting, you want to initiate a test SnapMirror session to 
collect performance data. 

 
How would you accomplish this task? 

 
A. Run the network test-path command to simulate a SnapMirror connection and record the 
latency/throughput data. 
B. View the active network connections to the node to see if there a large number of active 
connections. 
C. Use the ifstat command to collect network performance data for the physical interface. 
D. Run the network statistics lif show command for the intercluster LIF to simulate a network 
connection. 

 

  Answer: A  
 

  Question: 2  

 
The root aggregate on your single-node ONTAP cluster failed. You have the configuration backups 
saved on your FTP server? 

 
In this scenario, which two steps are part of the recovery procedure? (Choose two.) 

 
A. Perform a Netboot using the configuration backup. 
B. Create a new aggregate and set its ha_policy option to sfo. 
C. Boot into maintenance mode. 
D. Create a new root aggregate and set its ha_policy option to cfo. 

 

  Answer: C,D  
 

  Question: 3  

 
When does ONTAP 9.5 overwrite a block that contains existing data? 

 
A. after a user edits a file 
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B. after the block has been marked free 
C. when file permissions are changed 
D. when a file is copied in a LUN 

 

  Answer: D  
 

  Question: 4  

 
Your customer has initiated several volume move commands to redistribute the workload in their 8- 
node cluster. To verify that this process is not affecting their client access, they were monitoring the 
network switches that provide client access, but they do not see the network load of the volume 
move command. 

 
In this scenario, what is the reason for the behavior? 

 
A. The volume move command uses the HA iWarp interconnect, not the client access switches. 
B. The volume move command uses copy offload protocol, so it does not show up when monitored. 
C. The volume move command uses the intercluster LIFs, not the data LIFs. 
D. The volume move command uses the cluster interconnect switches, not the client access switches. 

 

  Answer: B  
 

  Question: 5  

 
A customer reports that a takeover has been disabled on an HA pair. 

What would be a cause for this to happen? 

A. The HA interconnect is not functioning properly. 
B. There is a disk running too hot. 
C. The interface for the hardware assist has become unavailable. 
D. The cluster network is not functioning properly. 

 

  Answer: A  
 

  Question: 6  

 
Click the exhibit button. 
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Many end users are complaining that logging in their systems takes a long time. When the login to 
the desktop finishes, everything is fine. The home directories are on NetApp storage. You do not see 
any significant disk or CPU contention on the controller, so you gather output statistics from the 
controller and focus on SMB. 

 
Referring to the exhibit, which two actions would help diagnose the problem? (Choose two.) 

 
A. Engage your Windows team to make sure that the domain controllers are not overloaded. 
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B. Engage your desktop team to collect network traces from the clients. 
C. Collect more statistics to determine whether the controller itself is causing latency. 
D. Engage your network team to make sure that there are no issues between the storage controller 
and the domain controller. 

 

  Answer: C,D  
 

  Question: 7  

 
Click the exhibit button. 

 

 
A customer reports that their system recently began logging an error. 

Referring to the exhibit, which two statements are correct? (Choose two.) 

A. The bcomd application is responsible for monitoring the observed behavior. 
B. A user is attempting to restart the ntpd daemon. 
C. The spmd application failed to restart the ntpd daemon. 
D. The ntpd daemon is responsible for time services. 

 

  Answer: B,D  
 

  Question: 8  

 
Click the exhibit button. 
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A customer has an FC SAN with brocade switches. Each server attached to the SAN gas four FC ports. 
The customer describes that one of their servers has only four paths to the LUNs configured on the 
cluster. There should be eight paths on all the other servers. The switch administrator has verified the 
zone configuration. 

 
Referring to the exhibit, which two actions would you perform to troubleshoot the problem? (Choose 
two.) 

 
A. Review the LIF configuration on the cluster. 
B. Review the driver version on the server. 
C. Review that the host side FC link ports are enabled. 
D. Review the igroup configuration on the cluster. 

 

  Answer: A,B  
 

  Question: 9  

 
End users are complaining of high latency when accessing an ONTAP 9 luster. 

 
Which command helps you to determine whether there is a storage component that is contributing 
to this problem? 

 
A. qos statistics performance show 
B. qos statistics latency show 
C. sysstat -c 30 -M 1 
D. wafltop show -v -cpu -I 10 -c 5-n 6 
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  Answer: A  
 

  Question: 10  

 
Click the exhibit button. 

 

 
You have just cabled a new shelf to a FAS8200. Running the system node run -node * sysconfig - a 
command indicates that multipath HA is configured. However, after running Config Advisor, you 
receive an error that your cabling is incorrect. 

 
As indicated in the exhibit, which two actions will correct the cabling? (Choose two.) 

 
A. Move the 0b SAS connection on the bottom controller to 0d on the bottom controller. 
B. Move the 0b SAS connection on the top controller to 0d on the top controller. 
C. Move the 0b SAS connection on the top controller to 0d on the bottom controller. 
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D. Move the 0b SAS connection on the bottom controller to 0d on the top controller. 
 

  Answer: A,B  
 

  Question: 11  

 
Click the exhibit button. 

 

 
A volume move operation has been initiated to move a volume named MirrScr from one aggregate 
to another. The operation failed with the error that is shown in the exhibit. 

 
In this scenario, which statement is correct? 

 
A. Manually trigger the cutover process in order to restart the job. 
B. The volume move cannot be completed at this time because of high use in this node. 
C. There are too many snapshots on the source volume. 
D. Cancel and restart the volume move operation. 

 

  Answer: A  
 

  Question: 12  

 
Click the exhibit button. 
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You are troubleshooting a system in which the customer reports that aggregates on Stack 6c/12b are 
having slow response tomes from system NETAPP1CLUS-02. 

 
Referring to the exhibit, which two statements are correct? (Choose two.) 

 
A. The aggregates have only one PHY running at six gigabits per second on 6c. 
B. PHY 2 is running at six gigabits per second; on system NETAPP1CLUS-02, reseat IOM6 Module A on 
Shelf 10. 
C. The shelf module firmware is downrev; on system NETAPP1CLUS-02, replace IOM6 Module A on 
Shelf 10. 
D. The aggregates have only PHY at six gigabits per second on 12b. 

 

  Answer: A,C  
 

  Question: 13  

 
What is a major difference between NFSv3 and NFSv4.x? 

 
A. NFSv4.x is stateful, and NFSv3 is stateless. 
B. NFSv4.x requires an auxiliary protocol for status monitoring, and NFSv3 does not. 
C. NFSv4.x is stateless, and NFSv3 is stateful. 
D. NFSv4.x requires an auxiliary protocol for mounting, and NFSv3 does not. 

 

  Answer: A  
 

  Question: 14  

 
A customer is attempting to move from NFSv3 to NFSv4.x and reports that all attempts to mount 
using NFSv3 continue to be successful, however, all of their NFSv4.x mount attempts fail with an 
“access denied” error. 

 
Which two statements would cause this error? (Choose two.) 

 
A. The NFS server does not have NFSv4 enabled. 
B. The SVM’s root volume allows execute access for all users. 
C. The export policy applied to the data volume does not allow clients to access it using NFSv4. 
D. The export policy applied to the SVM’s root volume does not allow the NFSv4 clients to access it. 

 

  Answer: B,C  
 

  Question: 15  
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In a 4-node cluster, nodes 1 and 2 are an HA pair, and nodes 3 and 4 are an HA pair. The following 
error appears in the log. 

 
12/15/2018 15:48:47 node-2CRITICALclam.node.ooq: Node (name=node- 2, ID= 1001) is out of 
“CLAM quorum” (reason =quorum update). 

 
In this scenario, which two statements are correct? (Choose two.) 

 
A. All LUNs are offline in the cluster. 
B. All LUNs are online in the cluster. 
C. Node 1 takes over node 2. 
D. Node 2 takes over node 1. 

 

  Answer: A,C  
 

  Question: 16  

 
Click the exhibit button. 

 

 
The storage administrator for the company example.com is attempting to join an SVM to their Active 
Directory as SVM1. The computer account must also be joined to the Secure organizational unit. 
Attempts to perform this action using the CLI fail with the error message shown in the exhibit. 

What is the reason for this error? 

A. The requested OU Secure does not exist in the Active Directory and must be created by the Active 
Directory administrator. 
B. The requested OU Secure has incorrect principal and errored with 
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KRB5KDC_ERR_S_PRINCIPAL_UNKNOWN. 
C. The administrator account password used in vserver cifs create was not entered correctly. 
D. The syntax is incorrect; it should be vserver cifs create -cifs-server svm1 -domain example.com -ou 
ou=Secure, dc=example, dc=com. 

 

  Answer: B  
 

  Question: 17  

 
Click the exhibit button. 

 

 

You are investigating an AutoSupport Disk Redundancy Failed alert. Cluster A lost connectivity to 
storage bridge BrB1, while cluster B lost connectivity to storage bridge BrA1. 

 
Referring to the exhibit, which three components need investigation? (Choose three.) 

 
A. storage bridges BrB1 
B. FC switch SwA1 
C. FC switch SwB1 
D. FC switch SwA2 
E. ISL cables 

 

  Answer: B,C,E  
 

  Question: 18  
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Two weeks ago, your customer experienced a data outage, which caused their MCC to switch over. 
When the power was restored, they found that 14 disks over three RAID groups had failed, which 
caused two data aggregates to lose their mirror plexes. 

 
In this situation, before you perform a switchback, which three actions should be taken? (Choose 
three.) 

 
A. Delete the failed plexes. 
B. Initiate the aggregate healing phases. 
C. Adjust bridge configuration for the replaced disks. 
D. Mirror the unmirrored aggregates 
E. Assign all disks on the remote site to the surviving nodes. 

 

  Answer: B,C,D  
 

  Question: 19  

 
After you replaced the motherboard, the node stopped in the “waiting for the cluster application to 
come online” state. 

 
Which two actions should you perform to troubleshoot this problem? (Choose two.) 

 
A. Check the status of the HA with the interconnect-up field of storage failover show command. 
B. Verify the setting of the cluster interconnect switch. 
C. Verify that the physical links on the cluster ports are up. 
D. Check the status of the cluster with the cluster ring show command. 

 

  Answer: A,D  
 

  Question: 20  

 
For restore purposes, a storage administrator on an ONTAP system created a FlexClone of a volume 
that contains a LUN from a specific snapshot. This LUN cannot be seen by a Windows client after a 
disk rescan is performed by using Disk Management. 

 
In this scenario, which statement is correct? 

 
A. The cloned LUN must be brought online. 
B. The cloned LUN needs to be mapped to an initiator group. 
C. The cloned volume must be split from the source volume before the LAN can be used. 
D. The cloned LUN must be renamed to a different name than the name of the source LUN. 

 

  Answer: C  
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  Question: 21  

 
Click the exhibit button. 

 

 

Your customer is calling about their MetroCluster environment. They have provided you with the 
output of the metrocluster interconnect adapter show command. 

 
Referring to the exhibit, which statement is correct? 

 
A. For all MetroCluster configurations, this is expected output. 
B. The InfiniBand cables should be connected in this configuration. 
C. The InfiniBand interconnect is not used in MetroCluster. 
D. This is a 2-node MetroCluster. 

 

  Answer: A  
 

  Question: 22  

 
When you issue a volume clone create command, which entity in WAFL is copied? 

 
A. the vol_info block 
B. the buftree 
C. the data block 
D. the inode file 

 

  Answer: D  
 

  Question: 23  

 
A customer called you after a failure in their Microsoft Hyper-V environment on the “SVM1” SVM. 
The customer wants to enable nondisruptive operations (NDO) to prevent future failures. 
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In this scenario, which two actions must be performed? (Choose two.) 
 

A. Verify that the continuously-available option is set on the CIFS share. 
B. Verify that SMB2 is enabled. 
C. Verify that SMB3 is enabled. 
D. Verify that the branchcache option is set on the CIFS share. 

 

  Answer: A,B  
 

  Question: 24  

 
A customer has requested your assistance with replacing a DS224C disk shelf from their cluster 
nondisruptively. 

 
Which two actions should be performed before physically replacing the shelf? (Choose two.) 

 
A. Verify that the system is configured as multipath high availability. 
B. Upgrade the IOMs in the shelf before starting the removal process. 
C. Verify that the drives in the shelves are spares and ownership is removed. 
D. Zero the disks before performing the physical shelf removal. 

 

  Answer: A,C  
 

  Question: 25  

 
A customer’s FAS8200 node1 went down an hour ago after a WAFL inconsistency error. All data is 
being served from partner node2, but the storage failover show command output is not showing a 
node1 as “Waiting for giveback”. 

 
What is the corrective action for this situation? 

 
A. Re-create the root aggregate on node1. 
B. Boot the system and run the wafliron command on the inconsistent data aggregate. 
C. From the LOADER prompt, run the wafliron command on the system’s root aggregate. 
D. Boot the system and run the WAFL_check command on the inconsistent data aggregate. 

 

  Answer: A  
 

  Question: 26  

 
Click the exhibit button. 
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A customer is reporting that numbers in the statistics volume show command output appear to be 
incorrect. 

 
Referring to the exhibit, which statement is correct? 

 
A. The problem is due to a difference in operation size. 
B. Perfstat should be used to explain the behavior. 
C. There are operation types that are not listed in the output. 
D. A case with NetApp should be raised to find the root cause. 

 

  Answer: A  
 

  Question: 27  

 
You are investigating a CIFS issue at a customer site, but it is unclear which SMB version is being used 
between the client and the server. The customer has provided you with a packet trace output. 

 
In this scenario, which packet exchange contains information to indicate which SMB version was 
agreed upon by the client and the server? 

 
A. Ioct1 Request FSCTL_DFS_GET_REFERRALSIoct1 Response FSCTL_DFS_GET_REFERRALS 
B. Session Setup Request Session Setup Response 
C. Negotiate Protocol RequestNegotiate Protocol Response 
D. Tree Connect Request TreeTree Connect Request Response 

 

  Answer: D  
 

  Question: 28  

 
Click the exhibit button. 
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A customer reports that when they are failing over Hyper-V VMs, the process fails, and the server 
reports an error that indicates that there is something wrong with the storage. 

 
Referring to the exhibit, which three actions would be required in ONTAP to solve this problem? 
(Choose three.) 

 
A. Verify that the -symlink-properties parameter is enabled on the share. 
B. Verify that the access-based-enumeration share parameter is configured. 
C. Verify that the continuously -available share parameter is configured. 
D. Verify that -offline-files parameter is set to manual on the share. 
E. Verify that the oplocks share property is configured. 

 

  Answer: B,C,E  
 

  Question: 29  

 
Click the exhibit button. 

 

 
You execute a few commands and many fail, as shown in the exhibit. 

What could cause the error? 

A. The mgwd user space process on cluster1-02 failed. 
B. The aggregates were manually brought offline. 
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C. The cluster-02 node is down. 
D. The bcomd user space process on cluster1-02 failed. 

 

  Answer: C  
 

  Question: 30  

 
Your customer added a new DS2246 shelf to an existing stack on their FAS8060A system. The 
customer then noticed that the new shelf’s disks appear with the shelf serial number instead of the 
shelf ID in the sysconfig -r command output. 

 
What is the reason for this problem? 

 
A. The SAS is cabled incorrectly. 
B. There is failed IOM module in the new shelf. 
C. The ACP is cabled incorrectly. 
D. The new shelf has the same ID as another shelf. 

 

  Answer: A  
 

  Question: 31  

 
A customer performs a takeover and giveback of their controllers and notices that several of their 
NFS clients lose access to their volumes for a short period of time during the SFO process. The 
customer reviewed the LIF failover policies, and the polices are correct. 

 
What is the reason for this behavior? 

 
A. The clients are using NFSv4 to access the volumes. 
B. The export policies are incorrect and must be updated with node’s HA partner LIF information. 
C. A firewall is blocking the necessary network ports and needs to be updated to allow NFS 
communication. 
D. NFSv4 file locks need to be broken manually before initiating an SFO operation. 

 

  Answer: A  
 

  Question: 32  

 
Click the exhibit button. 
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A customer has the ns-switch shown in the exhibit. 
 

Which two statements are true in this scenario? (Choose two.) 
 

A. User names not present in the local database are looked up in LDAP. 
B. User mapping decisions are always based on the LDAP configuration. 
C. Host names are always resolved using the configured DNS server. 
D. Groups can be looked up both in the local database and in LDAP. 

 

  Answer: C,D  
 

  Question: 33  

 
A non-maskable interrupt event occurs. The system panics and then reboots. 

In this scenario, what would have caused the panic? 

A. a secd process 
B. a watchdog timer 
C. an ICMP blackhole detector 
D. a volume location distributed database 

 

  Answer: B  
 

  Question: 34  

 
A customer reports that one their SVMs has two default gateways. The customer wants to know 
whether this behavior is expected or if one of gateways should be deleted. 

 
In this scenario, what do you tell the customer? 
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A. The configuration is acceptable if the customer configures different metrics on all defaults routes. 
B. The configuration is acceptable only if both default gateways are in the same subnet. 
C. This situation is a misconfiguration, and the customer should delete one of the default gateways 
because there can be only gateway for each SVM. 
D. The configuration is acceptable. The customer can achieve load balancing between the default 
gateways by setting the same metric on all default routes. 

 

  Answer: A  
 

  Question: 35  

 
You migrated from a FAS3250 system to a new A200 system. After the migration, you notice that data 
compaction fails to be enabled on the migrated volumes. 

 
In this scenario, which statement is correct? 

 
A. You need to schedule background deduplication on all volumes. 
B. You need a license to have full efficiency on AFF systems. 
C. Data compaction is not supported on the A200 system. 
D. The volumes are thick-provisioned. 

 

  Answer: D  
 

  Question: 36  

 
Your customer states that the storage efficiency on their FAS 8200 is far below what they had 
expected for a VMware NFS datastore. They enabled deduplication three days ago. The job ran every 
night for only 10-20 minutes, and the space savings now is less than 5%. 

 
What is causing the space savings to be so low? 

 
A. They have enabled aggregate-level inline data compaction, so the savings are at the aggregate 
level. 
B. They have enabled aggregate-level inline deduplication, so the savings are at the aggregate level. 
C. They have not enabled volume-level compression. 
D. They have not run a baseline deduplication to scan old data. 

 

  Answer: C  
 

  Question: 37  

 
Click the exhibit button. 
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Your customer has severe latency on one of their SATA aggregates. You run the statit -b and statit -e 
commands to obtain detailed disk statistics. 

Referring to the output shown in the exhibit, which disk would be the problem? 

A. 0a.11.19 

B. 0a.11.21 
C. 0a.13.21 
D. 0a.11.23 

 

  Answer: A  
 

  Question: 38  

 
Click the exhibit button. 
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A customer notifies you that Active IQ is showing a warning that a broadcast domain in their 
environment has been configured with ports from multiple VLANs. 

 
Referring to the exhibit, which two statements are correct? (Choose two.) 

 
A. You should move the e0M ports to a Broadcast Domain that is dedicated to only management 
traffic. 
B. A VLAN tag cannot be assigned to the e0M port, so the configuration is acceptable. 
C. You should configure e0M so that is tagged on VLAN 40. 
D. You should change the LIF service policy to net-intercluster to prevent the LIFs from failing over to 
the e0M ports. 

 

  Answer: C,D  
 

  Question: 39  

 
You want to determine which SMB versions that a CIFS server can use when communicating with 
external servers. 

 
Which two CIFS server settings should be reviewed to accomplish this task? (Choose two.) 

 
A. smb2-enabled 
B. smb1-enabled-for-dc-connections 
C. smb2-enabled-for-dc-conections 
D. smb1-enabled 

 

  Answer: C,D  
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  Question: 40  

 
A customer complains that the copy offload does not work when copying large file from a Windows 8 
client between the CIFS shares that are hosted on the same ONTAP cluster. 

 
What are two reasons for this problem? (Choose two.) 

 
A. Deduplication is not enabled on the destination volume. 
B. The client should be using Windows 10 for ODX support. 
C. The source and target volumes reside on different cluster nodes. 
D. SMB 3.0 disabled on the CIFS SVM. 

 

  Answer: A,D  
 

  Question: 41  

 
Click the exhibit button. 

 

 

When you log in to a node, a warning is displayed as shown in the exhibit. 

Which statement is correct in this scenario? 

A. The node root volume was moved to a new aggregate. 
B. The partner still hosts the CFO aggregate for the node. 
C. One or more RDB db files are damaged due to an internal software error. 
D. The node cannot communicate with the rest of the nodes in the cluster. 

 

  Answer: D  
 

  Question: 42  

 
Click the exhibit button. 
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Your customer reports that their FAS2554A system reports multi-path HA when running the sysconfig 
command. However, Config Advisor reports an error about incorrect cabling. 

 
What are the two reasons for the messages? (Choose two.) 

 
A. Shelves 10 and 20 have different IOM modules and must be in separate stacks. 
B. The FAS2554 system is cabled incorrectly to shelf ID 20. 
C. The DS2246 shelf is wrong; the shelf ID must be 11. 
D. Disk shelves 10 and 20 are cabled incorrectly to each other. 

 

  Answer: B,D  
 

  Question: 43  

 
A field support engineer has just replaced the IOXM on NODE2 on a FAS8080 running ONTAP 9.1. 
After the replacement, the customer is unable to perform a giveback because the interconnect is 
down. 
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In this scenario, which statement is correct? 
 

A. Verify that there cross-links between the interconnects. 
B. Verify that the installed FC-VI cards are configured properly. 
C. Verify that the interconnect cables on the motherboard are connected correctly. 
D. Verify that the interconnect cables on the IOXM are connected correctly. 

 

  Answer: D  
 

  Question: 44  

 
A customer reports that OnCommand Performance Manager shows that the workload on node-02 in 
a 4-node cluster has increased to a level that is higher than the threshold. The customer wants to 
avoid this issue becoming a performance problem. 

 
Which two actions would result in achieving this goal? (Choose two.) 

 
A. Use the volume move command to move one or more volumes to another aggregate that is 
owned by another node that is less utilized. 
B. Use the storage aggregate relocation command to offload an aggregate to its partner. 
C. Use the storage aggregate scrub command to verify the parity on the busy aggregates. 
D. Physically move the shelf to another node that is less utilized. 

 

  Answer: A,D  
 

  Question: 45  

 
Click the exhibit button. 
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A customer’s system reported several errors. There was no disruption, but the customer is concerned 
about the system’s health. 

 
Referring to the exhibit, which statement is true? 

 
A. One of the switches has failed. 
B. One of the IOM modules on shelf 20 has failed. 
C. Storage redundancy is degraded. 
D. Port 1D on the system has failed. 

 

  Answer: C  
 

  Question: 46  

 
You configured iSCSI multipathing on a Windows host to a 2-node ONTAP cluster so that you can 
attach to some LUNs. You see that the host logging in to both iSCSI LIFs in the ONTAP cluster, and you 
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notice that the igroup is correctly set. After you open Disk Management and rescan for disks, the 
NetApp LUNs do not show up. 

 
In this scenario, what should be performed to enable the LUNs to be visible to the Windows host? 

 
A. Set up LUN mapping and try scanning again. 
B. Configure the SVM for FCP and try scanning again. 
C. Set up Selective LUN Mapping (SLM) and try scanning again. 
D. Configure the ONTAP nodes for HA and try scanning again. 

 

  Answer: C  
 

  Question: 47  

 
A customer has a 2-node MetroCluster. They experienced a complete power loss at site B. The 
customer has lost connectivity to site B and now realizes that the DR partner at site A has not taken 
over the DR partner at site B. 

 
Which two actions must be performed in this scenario? (Choose two.) 

 
A. On the DR partner at site A, perform the process to switchover. 
B. Ensure that site B is prevented from serving data or simply powered off (nodes and disk shelves). 
C. On the DR partner at site A, perform the process to heal the data aggregates. 
D. On the DR partner at site B, perform the process to heal the root aggregate. 

 

  Answer: A,D  
 

  Question: 48  

 
A reboot was performed by a watchdog reset on the node. 

In this scenario, which statement is true? 

A. The service processor no longer responds. 
B. In case of an L1 watchdog event, determine whether a panic message was recorded. 
C. In case of an L2 watchdog event, determine whether a core was dumped. 
D. The wafl_check command should be executed. 

 

  Answer: A  
 

  Question: 49  

 
Which statement is correct about the wafliron command? 
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A. The wafliron command is used to correct parity inconsistencies. 
B. The wafliron command is used to correct inconsistent WAFL metadata. 
C. The wafliron command is used to correct WAFL i2p inconsistencies. 
D. The wafliron command is used to correct inconsistent user data blocks. 

 

  Answer: B  
 

  Question: 50  

 
In a 4-node MetroCluster cluster, both clusters are alerting that the connection to an ATTO bridge is 
lost. 

 
Which three components should be verified to determine what is causing this problem? (Choose 
three.) 

 
A. the SFPs that are connecting the ATTO bridge to the switch 
B. the dark fiber cables between sites 
C. the ATTO bridge 
D. the SFPs in the storage controllers 
E. the fiber cable that is connecting the ATTO bridge to the switch 

 

  Answer: A,C,E  
 

  Question: 51  

 
A customer has created an interface group (igroup) named a0a, a VLAN named a0a-2500, and a data 
LIF associated with the VLAN interface that has been assigned an IP of 10.254.10.100. The customer 
is able to ping 10.254.10.100 from a Windows client without any issues, but data traffic is not 
working. 

 
In this scenario, what is the solution to the problem? 

 
A. Disable flow control on the a0a interface. 
B. Configure an appropriate service policy for the data LIF. 
C. Correct the MTU mismatch between the broadcast domain configuration and the upstream 
network switches. 
D. Allow data traffic by using LIF firewall policies. 

 

  Answer: D  
 

  Question: 52  
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At a customer site, the storage failover giveback command fails when giving back the root aggregate. 

What would be two reasons for this failure? (Choose two.) 

A. There are active NFS connections. 
B. There are failed disks. 
C. The HA interconnect is not operational. 
D. There are active SIS operations running. 

 

  Answer: B,C  
 

  Question: 53  

 
The error message shown below is reported in the EMS log file. 

 
“[sis.changelog.full:warning]: Change logging metafile on volume DATA1 is full and can not hold any 
more fingerprint entries.” 

 
What are two ways to solve this problem? (Choose two.) 

 
A. Clear the changelog manually so that the operation can restart. 
B. Increase the size of the changelog to allow the operation to continue. 
C. Modify the storage efficiency policy so that deduplication runs more frequently. 
D. Modify the threshold that triggers a deduplication operation. 

 

  Answer: B,D  
 

  Question: 54  

 
A customer reports that a LUN is offline because the volume is out of space even though the space- 
reserve parameter is configured to enabled on the LUN. 

 
Which two statements are correct in this scenario? (Choose two.) 

 
A. The containing aggregate is thin-provisioned. 
B. The fractional reserve is set to 0%. 
C. Deduplication is inflating the LUN when it is brought online. 
D. The volume has snapshots. 

 

  Answer: A,D  
 

  Question: 55  
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Click the exhibit button. 

http://www.justcerts.com/


Questions & Answers PDF Page 34 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

http://www.justcerts.com 

http://www.justcerts.com/


Questions & Answers PDF Page 35 

http://www.justcerts.com 

 

 

 
 

Referring to the exhibit, which change is required to enable the CIFS Autolocation function for the 
Users share? 

 
A. Edit the CIFS share’s properties to remove the changenotify property. 
B. Re-create the LIFs to allow both CIFS and NFS protocols. 
C. Change the CIFS share’s Symlink Properties parameter to symlinks. 
D. Modify the CIFS server’s option to enable SMB multichannel. 

 

  Answer: C  
 

  Question: 56  

 
A customer calls you about a performance issue that they experienced over the past few days. They 
want to know if data collection and root cause analysis (RCA) is possible for this issue. This issue 
appears to be a one time event. 

 
Which tool would be used to satisfy the customer’s request? 

 
A. perfstat 
B. perfmon 
C. OneCollect 
D. Performance Archive 

 

  Answer: C  
 

  Question: 57  

 
A customer reports that copying data over iSCSI attached LUNs is taking significantly longer than 
usual. The customer asks you to help to identify the root cause of this problem. 

 
Which two perfstat sections would you use to accomplish this task? (Choose two.) 

 
A. stats lun 
B. lun stats -vserver 
C. statit 
D. stats volume 

 

  Answer: B,C  
 

  Question: 58  

 
Click the exhibit button. 
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A customer reports that storage latency has recently increased substantially. No changes have been 
introduced, and the traffic did not change. 

 
Referring to the output shown in the exhibit, which corrective step should be taken? 

 
A. Add more spindles. 
B. Throttle the client traffic. 
C. Perform the volume reallocation. 
D. Move some volumes off the affected aggregate. 

 

  Answer: B  
 

  Question: 59  

 
Click the exhibit button. 
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Your customer added a new DS4246 shelf to their FAS system. They created an aggregate on the new 
shelf. Two weeks later, they log in to Active IQ and discover the Medium Impact error shown below. 

 
“Both SAS connections from one controller go to the same shelf.” 

Referring to the exhibit, which statement is correct? 

A. You are unable to obtain a “Cable Visualization” overview from Active IQ. 
B. A faulty cable is causing the problem. 
C. A faulty IOM is causing the problem. 
D. You can correct this problem without downtime on the FAS system. 

 

  Answer: D  
 

  Question: 60  

 
Click the exhibit button. 
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A storage administrator reports that when they enabled Vscan, they began receiving reports of CIFS 
users having very slow access to all their files. The storage administrator recovered from the issue by 
disabling Vscan on their SVM. The storage administrator was able to collect perfstat output during 
the time of the reported slow access, as shown in the exhibit. 

 
In this situation, what is the problem? 

 
A. The problem is on the SVM, as shown in the scan_latency output. 
B. Vscan server 192.168.100.144 was slower than Vscan server 10.23.23.54 in completing Vscan 
requests. 
C. Vscan server 10.23.23.54 was slower than Vscan server 192.168.100.144 in completing Vscan 
requests. 
D. The problem was with both Vscan servers 192.168.100.144 and 10.23.23.54. 

 

  Answer: B  
 

  Question: 61  

A new cluster running ONTAP 9.5 has just been installed and you want to create a FlexGroup volume. 
Which action will accomplish this task? 

 
A. Use the storage pool create command. 
B. Use the volume create command. 
C. Use the Deploy utility to provision the FlexGroup volume. 
D. Use the volume size command. 

 

  Answer: A  
 

  Question: 62  

An administrator wants to keep an automatic daily up-to-date copy of a volume at a disaster 
recovery location. What should the administrator do to achieve this goal? 

 
A. Perform a volume relocation to the remote location. 
B. Configure a SnapMirror relationship to the remote location. 
C. Configure a SyncMirror relationship to the remote location. 
D. Perform an NDMP dump to the remote location. 

 

  Answer: B  
 

  Question: 63  

 
You are running a fabric-attached MetroCluster configuration with ONTAP 9.5 software. There is a 
maintenance window for the upcoming weekend. Plexes in your mirrored aggregates between your 
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two data centers have not been synchronizing for two days. 
When the resynchronizations begin, they are not as quick as expected, and the process takes more 
than a day. 
You have been modifying the number of concurrent I/O streams using the storage raid-options 
modify raid. resync.num_concurrent_ios_per_rg command, but the resynchronization speed stays 
slow. 
You have four separate ISLs between your data centers using Brocade 6510 switches. Hardware 
problems are not an issue. 
Which two actions should you take to prevent this problem in the future? 
(Choose two.) 

 
A. Update to at least ONTAP 9.4 software. 
B. Restart the resynchronizations after modifying storage raid-options modify 
raid.resync.num_concurrent_ios_per_rg command. 
C. Avoid changes on your aggregates during the maintenance window. 
D. Take the corresponding plexes offline before maintenance to avoid a base-level synchronization. 

 

  Answer: AB  
 

  Question: 64  

Which two statements are true about a data volume? (Choose two.) 
 

A. A data volume can be accessed by a LIF on any node. 
B. A data volume can be moved to any aggregate with space for it in the cluster. 
C. A data volume can be accessed by a user connected to any SVM. 
D. An SVM root or root load sharing mirror volume must be present on every node. 

 

  Answer: AB  
 

  Question: 65  

 
You have a 2-node ONTAP Select HA deployment. In this scenario, which application manages the 
quorum, if one node fails? 

 
A. ONTAP Mediator 
B. ONTAP Deploy VM 
C. vCenter Server 
D. Tiebreaker 

 

  Answer: B  
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